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ENGLISH VERSION

Instructions : (1) All questions are compulsory.
(2) Marks are indicated on right side.

1 Write short notes on : 20
(1) Uses of S.Q.C. in industry
(2) Theory of runs
(3) Variations in quality
(4) Double sampling plan.
OR

1 (@ Draw X and R charts from the following data and 10

state decision about production process :

SampleNo.:| 1 [ 2|3 |4 |5 |6 |7 |89 ]10
Mean : 3714340413839 (40 |41|39 |40
Range : 4 |6 |8 |8[10|6 (14| 4 |6 |12

(m = 4, A, = 0.729, Dy = 0, D, = 2.282)

(b) Draw C chart from the following data and also 10

obtain control limits for future production :

SampleNo.: |1 2 |34 |5 |6|7(8]9 (1011|1213 |14 |15
No.ofdef.: |7(12|3(20|21(5|4|3|10| 8 |0 |9 |6 |7 |20

2 Explain : 20
(1) Components of Time Series
(2) Importance of Business forecasting
(3) Input-output analysis
(4) Exponential smoothing method.

OR
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2 (@) Fit the second degree curve to the following data and 10
estimate the production for the year 2016 :

Year : 2004 | 2006 | 2008 | 2010 | 2012 | 2014
Production: | 110 | 114 | 120 | 138 | 152 | 218

(b) Obtain the forecasting about sale of the following 10

different year taking o =0.4 and initial forecast 100 :

Year : 2010 [ 2011 | 2012 | 2013 | 2014 | 2015
Sale (In thousand): | 110 | 120 | 121 | 125 | 124 | 122

3 Explain : 15
(1) Market Equilibrium
(2) Elasticity of Demand
(3) Monopoly.
OR
3 (@) When price of an item was Rs. 3.40 per kg its 5

demand was 1200 kg. When price increased to Rs. 4.20
its demand decreased to 800 kg. Calculate elasticity of

demand for an item.
(b) Following are the functions of demand and supply 5

for this find market equilibrium price and quantity :
3
D:x=55-2P S:x:20+§P

(¢©0 For a company demand function P=15—x and cost 5

function C=3x+15, obtain the production to get

maximum profit.
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4  Explain : 15
(1) Utility, Total utility and Marginal utility.
(2) Production function and Homogenous production function.
3) Cobb-Douglass production function.
OR

4 (a) The utility function of consumer is [J :4x3y3 7

and budget equation is x+2y=12. Find the value of

x and y such that utility function becomes maximum.
() If the production function Z=5—x"'— y_l 8
and P, =9, P, =1 and P, =4, then find the

maximum profit.
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